
Manual Fitting (FOPDT)

1. Find  θp

2. Find y
 ∞

3. Find ∆ymax

4. Find y0.632

5. Find t0.632

6. Find τp

7. Find Kp = ∆ymax/ ∆u





1. Find θp

θθθθp = 0.505



2. Find y
∞

3. Find ∆ymax

y
∞

= 1.94

y0 = 4

∆ymax = 1.94 – 4 = -2.06



4. Find y0.632

5. Find t0.632

6. Fing τp

0.632 ∆ymax = (0.632) × (2.06) = 1.30 m

y0.632 = 4 - 1.30 = 2.70 m

t0.632 = 4.5 min 

τp = 4.5 – 3.05 = 1.45 min 

Caution: Account for dead time when calculating ττττp!



7. Find Kp

• Kp = ∆ymax / ∆u = -2.06 m/-15% 

= 0.137 m/%


